
73. An actuary models the lifetime of a device using the random variable Y = 10X
0.8

, 

where X is an exponential random variable with mean 1 year. 

 

 Determine the probability density function f (y), for y > 0, of the random variable Y. 

 (A) 
0.280.810 yy e
 

  

 (B) 
0.8100.28 yy e   

 (C) 
1.25(0.1 )0.28 yy e   

 (D) 
0.250.125(0.1 )1.25(0.1 ) yy e  

 (E) 
1.25(0.1 )0.250.125(0.1 ) yy e  

 

74. Let T denote the time in minutes for a customer service representative to respond to 10 

telephone inquiries.  T is uniformly distributed on the interval with endpoints 8 minutes 

and 12 minutes.  Let R denote the average rate, in customers per minute, at which the 

representative responds to inquiries. 

 

Which of the following is the density function of the random variable R on the interval 
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50 of 102


